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General Instructions to Candidates : \

A3 §03n01d U393 B3 6)a12@)MIBCFI060BT3 :

There is a ‘Cool-off time’ of 10 minutes in each for Botany and Zoology in addition
to the writing time of 1 hour each. Further there is a 5 minutes’ ‘Preparatory Time’
at the end of the Botany Examination and before the commencement of the Zoology
Examination.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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PART - A

BOTANY
(Maximum : 30 Scores) Time : 1 Hour
Cool-off time : 10 Minutes
Answer all the questions from 1 to 3. Each carries 1 score. B x1=3)

1.  What is the function of Restriction Endonuclease in recombinant DNA technology ?
(a) Link together fragments of DNA (b) Make millions of copies of DNA

(c) Cut DNA into many fragments. (d) Separate fragments of DNA

2. The Government of India has introduced the concept of , S0 as to work
closely with the local communities for protecting and managing forests.

3. Which among the following is not a greenhouse gas ?
(a N,O (b) Methane

(c) Carbon dioxide (d) Ozone

Answer any 9 questions from 4 to 14. Each carries 2 scores.
9%x2=18)

4.  Many countries encourage the cultivation of Genetically Modified Crops (G. M. Plants).
Write any two advantages of GM plants.

5. Match the columns (A) and (B) :

(A) (B)
(1) Mutualism (@)  An orchid growing on a tree trunk
(i)  Predation (b)  Gauss’s Exclusion Principle

(i11)) Commensalism | (c) Biological control
(iv)  Competition (d)  Derives nutrition from the host organism

(e) Mycorrhizae
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PART - A
BOTANY
(Maximum : 30 Scores) Time : 1 Hour

Cool-off time : 10 Minutes

1 2)®@3 3 AIPOW)BG af)LI0 Gal0BIBRBAEN)> YOMOOAY)®)H. 1 capd all®o.
Bx1=3)
1. dlepomilmad” DNA avoea@ilaalaialad oqvsleuad agadecawo mydglecoaiiont

WA2Ro af)aNIEM ?

(a) DNA @attememeg cwodlaflosyam,.

(b) DNA-©)6S LIgHIHEMAFNM Cha fl DMEH6)aM).
(c) DNA-0@ &HaHemensoos] maclao)am,.

(d) DNA &aHememnes cal@ailalea)am).

2. QIMEBGIOS TVoRSHUMATM @e3udlo)es auedlal al@oglomoe H0alodedad snam O
nalemeand ®)Se9alsg aleL@Ioam’

3. 999 ®@aMIdlanmMAIDI@E a0BIDUW R0 Q@0 GREOTIHED@IEM ?
(@ N,O (b) dlennd
() HOBNIND HOAWEBIBHHONHAVLAL (d) e0ecavoed

4 M®@3 14 A1600WBS G213 EBSEIG3 WMo aGa®EsIENe 9 G21033BURGS DTMO-
OA)®)h. 2 ¢apIAQ afl®o. 9 x2=18)

4. 20O 200 AOEWQ alSHBOS DUl WIS MIREBURB IOVl ]l-
SO)ANPENE. GROINVo TLAVIEBBBINS aBO@ELIENo QNS GAMBUB af)9)®)d>.

5. af), nil 6386803 GaldoalS] Gal@B9)D

af) onil
(1) 2a\alellave (a) &0} 20T AUSOIAN BIBBSAUW ALAVYO
(VEAN2aIBIBI®)
(i)  (afleawanad (b) VIO af)DHMVUHB (afladala flud
(D0allSlen®d)
(iii)  @aadaueiavo (c) eexaille Tlo@Ememo
(vaosdlaimo)
(iv)  eaomiglanad (d) @RYI® TLIVLIOHIG3 MIIMYo CaldaHeMo
(2@rLEo) auflaalaman).
() ©ONCHNIOHOMV

SY 26 3 P.T.O.



6.  Write the asexual reproductive structures given in the diagrams (a), (b), (c) and (d).

(a) (b) (© (d)

7. PCR and ELISA are two molecular diagnostic techniques.
(a) How is PCR useful in molecular diagnosis ?

(b) What is the principle of ELISA ?

8. (a) Identify the type of ecological pyramid given below.

(b) Pyramid of energy is always upright. Why ?

9. Deforestation is a serious issue in the present scenario. Write any two major

consequences of deforestation.
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6. @oey @amlalemm all@engow (a), (b), (¢), (d) agMlaiiee GrRO6EIUIH:

(DR |IBM BINEIBUB aBO@AN af) 9)®).

(@) (b) (c) (d)

7.  PCR-90 ELISA-©@)o 061 (1M @@ czmocnm%ﬁeg;g@ mod}@mgom{
(@) PCR ag)smem®@osm @@ ¢ooNMIBENO@IIME DalE@on(IBROAM® ?

(b) ELISA-@)6S @®lo af)amoem ?

8. (a) oy ®aMIAlEe)M EHHISEIBNE alloalal aGe@aN @Idla)Glw)s.

(b) 29822 aflodllal 0o Ea o9l MIAIBIN@OE. af)IEODHTE ?

9. DD BHOLICLISTITNIOELI BO) (IWIM (YA AIMMUBlGOMo. AIMMUBlBHOIMOTIOG

a0 AME alGleMMaNLIBUB af)9)®)d>.
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10. Observe the flow chart given below :
(a) Name the processes represented as A and B.
(b) If ‘N, is the population density at time t, then write down the population density
equation at time t + 1.

11. The early stages of embryo development are similar in both dicots and monocots.
However, mature embryos have differences. Write two major differences between dicot
embryo and monocot embryo.

12. Given below is a flow chart showing the accumulation of DDT in different trophic
levels :

(a) Name the phenomenon.
(b) How does it affect bird population ?

13. Detritivores play a major role in decomposition.
(a) What are detritivores ?
(b) Write an example for a detritivore.

14. Double fertilization is a characteristic feature of angiosperms.

(a) Which are the events in double fertilization ?
(b) Name the triploid nucleus formed as a result of double fertilization.
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10. @069 @aMIAlEaM GaQo 21085 MIGldH @)D :
(@) A, B agyam av)a flaflafldlenam @1aid@mmemud aaman af) 9.
(b) ‘t’ WaWOHED Galdalicelaud MVIMB® ‘N’ GREMSBIG3 t + 1 Cvaeo™
LI(BD BHHENBATNAN TVAAIID Lo af)P)®)B>.

1. @8 QIgda]@es ®@YBICLISERUY  TLAIMANOIMEIL  o)3gNAISAs|pOOTI®
aR@nilRal(@ (mm(g@zsﬂa(rg} @emal), sflmil®Rai@ cn)m)‘gcmﬂmg (@emMal)
QIY®PAVO|SIBEH)IMN). DO GOAILNSS nBODEILIN OENE AIY®PAVEBUD af)§) @)

12. aflallw  @soadle,  elaensslad DDT  e@eslaomensian  dlall@osm  @oey
3062 flAlee) M@ :
(@) DY (IBGIRIMVo ABODAN af)P)YDD:.
(b)  D® ald:Hl AVDYOODD Af)sIBOM OO BRIV NIdUSlBMAN] ?

13. awEiglearnoydud alleeinsm@mI@s (@ IWom aleh)Qlaoleeam).
(a)  awEIdleann)dud af)amoeeIan ?
(b)  WEIFIca0)BUBE B0)BIAODEMo af)P)®).

14, anayl® avavienges avalleuaumosm ailenile: ausseimo.
(@) aflenilz cvseineileng ~e1geEBUd agal ?
(b) allnilz CVBLIM ADLINOWIENEIG)IM (SlEx 10V DGO CalHOPI®)D.
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Answer any 3 questions from 15 to 18. Each carries 3 scores. B3x3=9)

15. Recombinant DNA technology is a complex process which involves several steps.

Write down the major steps in recombinant DNA technology.

16. The discovery of Restriction Endonuclease is considered as “milestone” in the history

of genetic engineering.
(a) Which is the first discovered restriction endonuclease ?

(b) What are the criteria for naming of restriction endonuclease ?

17. Observe the diagram of young anther given below.
(a) Identify the parts labelled as A, B, C and D.

(b) Which layer nourishes the developing pollen grains ?

18. Outbreeding in animals may be outcrossing, crossbreeding and interspecific hybridisation.
(a) Give an example for a progeny obtained by interspecific hybridisation.

(b) How does outcrossing differs from crossbreeding ?
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15 ay®a@3 18 alwowas casyBglad ®wlmp ogeesslene 3 ajgnooilm’

2OMOOAY)M)h. 3 caMOA all@o. B3x3=9)

15. dleaomimagd” DNA quocs@lanilay woooge ~eISansas 30) mmﬂ@% (a1QIBEDM-

MI6M. EDBIOE! (21WIM ALISEBUD af) 91 .

16. 0oaUSlomd  a)BEWIMRAICVAV  OTVIUNIWIOS  GeMelallSiome  RTI®

a2 lafldlow) 2 1Bl @OBIOE! MIFDHEHLI0W] BHEMEHILIAM).
(a) @BV &emB)ailSla] OTVSISHB af)BEWI MYFIEVAV aB@®I6T ?

(b) DD EOMVINTIBHS)ONS MINBAMBTIMAICWIUIIGNAM AIMBEMWEIBUB aBQ ?

17. @269 @GN al@dUIIWIOS 2 fl(@o MIGIG:H] 00D
(@ A, B, C,D agarlemnem coaloa]s)omlilales)an @owoe @ildlajolw)s.

(b)  QAUIBOYAM aIEONEOEMENUBAS CGaldaHeMo MENAN BINO ARG ?

18. aywemgloal avgilaloy) @IS  B95e@oMlow),  E@omEnilaslow, eR@-

aTyTlabld; ©6a0ENOOAETVAU af)aVlAIOEM.

(@) BdOARMTafld  OOa0ENINOAWETVH  QIFl MBI B0} AVINTI B

9B0a006Mo af) ).

(b)  8Y5E@OMot) (AIBHIW E@OTVENIWLU@ MM af)eBBOm AIY®PIVeAS]-

alomam) ?
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PART -B

ZO0OLOGY
(Maximum : 30 Scores) Time : 1 Hour
Cool-off time : 10 Minutes
Answer all questions from 1 to 3. Each carries 1 score. Bx1=3)

1.  Which among the following belongs to ex-situ conservation ?

Wildlife sanctuaries, Biosphere reserves, Zoological parks,

National parks, Sacred groves

2. The milk produced during the initial few days of lactation is called

3. Diagrammatic representation of the central dogma given below is not correct. Make

necessary corrections and redraw it.

Answer any 9 questions from 4 to 14. Each carries 2 scores. 9x2=18)

4.  Prepare a flow chart showing the evolution of modern man in the hierarchial order of

their evolution using the details given below :

Homo erectus, Homo habilis, Dryopithecus, Australopithecines,

Homo sapiens, Ramapithecus, Neanderthal man
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PART -B
ZOOLOGY

(Maximum : 30 Scores) Time : 1 Hour

Cool-off time : 10 Minutes

1 ;)®@8 3 2160W)HS af)E10 Ga10BIEBURBEP)0 QOMOSAYI®). 1 MDA all@o.

Bx1=3)
1. 269 ®mMIGElenMaII@3 ex-situ &HamaLAEAIaHMIG3 HalS)AMAT ol ?
Wildlife sanctuaries, Biosphere reserves, Zoological parks,
National parks, Sacred groves
2. meiogeilond @rey dlmenglad 2e]o6lafleanan aellom ag)amn’

@ROlea|S)aM).

3. ©9%99 ®aIGleeam ‘OaVaS@ CUWOVR’WIOS HOQIW 0 ICORIWIT G@RYNININOW

So)O®ENGHUd AI0)O] aflenglo QIO :

4 @3 14 A1e0WBS cal3yEBEled M) agomslels 9 afanomlm’ 2omo-

OA)®)Hh. 2 ¢apIAQ afl®o. 9 x2=18)
4. oY @mMIdleNI  alltBWEBUWB  DalcIWla AMaHy  alBlEMOACTHIOLI

MM (HACOF BRSITVLOOMTTIGE OBH GaQo 21085 WB20e9)D :

Homo erectus, Homo habilis, Dryopithecus, Australopithecines,

Homo sapiens, Ramapithecus, Neanderthal man
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5. Observe the figure given below :

(a) Identify the figure.
(b) How many histone molecules are present in the Histone core ?

(c) Distinguish Euchromatin and Heterochromatin.

6. Some examples of evolutionary structures are given below. Classify them under

suitable headings :

(a) Forelimb of Man, Cheetah, Whale, Bat.

(b) Wings of Butterfly, Bird.

(c) Thorns and tendrils of Bougainvillea and Cucurbita.
(d) Vertebrate hearts or brains.

(e) Eye of the Octopus and Mammals.

(f) Flippers of Penguins and Dolphins.

7.  “The sex of the baby is determined by the father and not by the mother.” Do you agree

with this statement ? Substantiate your answer.

8.  Find the odd one out. Justify your answer.

Down’s syndrome, Turner’s syndrome, Phenylketonuria, Klinefelter’s syndrome
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5. @269 @aldlenman all@o Mdle:a e :

(@) all@o @@l|0lW)>.
(b)  adleauoemd ¢30@ BINGID ag)(® aOlEAVIETD DO(@HUD @RSlWIS)ME ?

(€)  ©POEBIRIGIM]Io HAOQGEOIN(EHIA0FGIM)o ®ALNSH AlY® Vo GGl 0l)dD.

6. ®o6¢Y @ICENAN  MAILINHMA]  2LISM  ©BIANEMEBHS D llA0W

@EIOENG)HSI T3 @ VoGI BN :

(@)  2amauyad, allgapeil, @lalonelo, AIQJ@3 ad)IIAIWIEOS M)BEOD:.
(b) all@uoriEo, ald:Hl af)MIAUDIOS 2 l0)B03.

(c) ®SEIaURAIS], HAUSSA] af)MIAIWIOS MBBIo AUSSIW]o.

(d) MoSEN8s RAMGOBIOS 20300 @RLOAI MELIC|IA.

(e) dfleodl, rvaudi agarlalwies (B)GJH:))V.

(D ©a1dnilad, cawouBadlad ag)aTlAIWOS aFla|d.

7. “aponien efloe MIBINOIENM® all®oadsm, 20®IAIS.” D (IMOAIMEWIS

MR GO BHIMIEENED ? MLOWIBGBHN ).

8.  HHSOIGE BQO|SD® aB® ? DOMO AVIW)BHGIHS)D .

Down’s syndrome, Turner’s syndrome, Phenylketonuria, Klinefelter’s syndrome
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9. Observe the diagram given below showing the sectional view of the female

reproductive system and name the parts labelled ‘A’, ‘B’, ‘C’ & ‘D’.

10. Microbes are useful to human beings in diverse ways. If so, name the following :
(a) Microbe known as “Baker’s Yeast”.
(b) Lactic acid producing bacterium.
(c) Fungus which helps in the production of bio-active molecule — cyclosporine A.

(d) Symbiotic nitrogen fixing bacterium.

11. Complete the flow chart given below :
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9. ®o¢ ®@aldlaenm @] I®YG3aoBM AIYAINO & (@0 mldlasdlaf ‘A’, ‘B’, ‘C’ &

‘D’ @0UEIBB)OS Gald CORIA|S)IOI ).

10. avagy 2loleBd ampeuim aealally ®EOTIEE DalCWIW(EIBAEM.  G@REBOHM-

OB MIOY Al0WIIMNA AR

(@)  “emicanym DAY af)Glea|s)am av)ay edalil.

(b)  enadse arIilw orialddlaled)an mioeSIdlw.

() o  @RRlal  E@I@WIVW  HOAVEGZICARIOIB-A  2@3a]oBlaflesomd

V00BN aboWV.

(d) adloenicoslas ©eMEGSRB afldUlow) NIDGSIGIW.

11, ®oey ®aldlae)am ¢aQd 21083 al)@O1ldAle9)D> :
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12. A wide range of contraceptive methods are presently available. If so,

(a)
(b)

(©)

Name one contraceptive method having least side effect.

Which contraceptive method is generally adviced for females as a termination
method to prevent any more pregnancies ?

List out any two possible ill-effects of the usage of contraceptive methods.

13.  The causes of biodiversity loss are designated as “EVIL QUARTET”. Explain the Evil
Quartet in biodiversity loss.

14. List of some diseases commonly occurring in man are given below. Arrange them
based on causative organism in the table.

Malaria, Common cold, Filariasis, Typhoid, Ascariasis,

Ringworms, Amoebiasis, Pneumonia

Bacteria Fungus Virus Protozoan

Answer any 3 questions from 15 to 18. Each carries 3 scores. B3x3=9)

15. The amino acid composition of the relevant portion of B chain of two haemoglobin
molecules (A & B) are shown below :

(a)
(b)
(c)
(d)

SY 26

Which one of the polypeptide chain is abnormal ?
Name the disorder caused by it.
What is the reason for this abnormality ?

What is the effect of this abnormality in such individuals ?
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12, woag0 nde MEEIWm MOBYEBU3 DGR [0UB LIYAEM. af)Esl@3
(a)  al0Buol aDRIERUD GO0 K500 630} NAE WIEEIWM AOBYPTDNOHM CalOHVYI®)D.
(b)) @J&RBee NBWOVeMe TR B¥10I8HIM CAIMNEl DalERUTleHIANMM
ndE Mleeowm 20d8%o aB® ?

() wde MlEEOWm MVBNEBBOS DalCWOWOA)LIo  DENRIGHOAN  OFNE BaHy
anPIBBUY aBQI ?

gl

13.  eexal 0e0Iallwy MONADTIM $H00eM20H)AM “eDDAl@3 $108QQ ~ allvodlaclee)d .
14. @269 ®aMIGIEHNAN GRINEIHBHS COINIMBNBIOS G@RSITLOIMATHIG3 OAMIGIBAN
esenilgl@d allmavlee)s.

Malaria, Common cold, Filariasis, Typhoid, Ascariasis,
Ringworms, Amoebiasis, Pneumonia

Bacteria Fungus Virus Protozoan

15 m)@@3 18 awowas calosimngled @l ago@@lene 3 afamoila’
2OMOOAY)M)h. 3 ¢aMPoA all®o. B3x3=9)

15.  oeme adleaocyomilad @mo@aieel (A & B) enilg a10mled (@ITvsem conom 988

@RAIEGMI GRHYIVIAW TLEEWWIRMo IO GAVIGIBHN)M) :

(@)  aB® Caldgloalaigulal” VoYRILIYIEM GRAVOWIOEMo ?
(b)  ®MEIo PMEIBIAM HOAIBHLIYOTIOF CalOOID ?
(©) DY HOHAUBLITTNOA HOOEMo af)T® ?

(d) Y eeaIBLIYP MElo (ITV® QAIYBOIGSET3 DENBIGAN AIQo af)(D ?
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16. The diagrammatic representation of the DNA fingerprint from a crime scene and that of
a suspected persons are given below :

(a) What is your conclusion about the suspects based on DNA Fingerprint given ?
(b) Whatis VNTR ?
(c) Who developed this technique first ?

17. (a) Expand STDs.
(b) Cite any two examples for STD.
(¢) Suggest any two methods for the prevention of STDs.

18. The diagrammatic representation of a process in bacteria is given below :

(a) Identify the process.
(b) Name the enzyme involved in this process.

(c) Explain the three major steps in this process.
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16.  @)Qdy®p MSIN qUORIC AN} LIElaj®lo GH)QEOamOIW AIIGBIBRIOSW]o

DNA aflotn@ (2 103)383)0S co60all(@o 0¥ @avialasam; :

(2)

(b)
(c)

17. (a)
(b)
(c)

DNA aflond (Nadlom @RaUalBadas] &)Qocodalmen &»)ola)as dlangins
wlwameaam ?

VNTR agyomoseias ?

@RBMOW] D AVIEB@IH®HAlBY Alldmlaflajmon’ ?

STDs @9S al)@emajalo af)9)®)d.
STD &6 068 ©B0a006Mo af)9)®)d.
STDs ®s@)01008 ¢alene aBo@esleljo @me 2083 Ml@egudlan)d .

18.  cI0BHSIBlIBS @3 MSHNMM 0] (L I(GlWIOS GO f(Go @6 GANIGIENIM

(2)
(b)
(©)

SY 26
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(IV® (GO T3 ©UBOAIG EONVIUVIWAS CalOVY)D)D.
(ITN® (VDS MAD (a1WOM 2LIgeBU3 Allaidles)d.
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